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£-01 RiE™ FHIEREET 10,893 & & &t &t BEfF+ & =
£-02 RE™ HER 12,732 & & &t &t BEfF1+ & =
£-03 KM R [EHET 19,074 & & &t &t oD & =
£-04 FE™ A FEHT 3,482 &t & & & oD &t =
£-05 RE™ 1 EFET 4939 & & &t &t BEfF+ & =
£-06 RE™ = AETIE 5,310 & & &t &t BEfF+ & =
£-07 RE™M [ KZAKETH4E| 6,788 & & &t &t BEfF+ & =
£-08 KM PR FHAETE 11,380 & & &t &t BEfF+ & =
£-09 KM PR FHAETE 5,501 & & &t &t BEfF+ & =
£-10 REM TLILHE 92,233 &t 17.4 86.3 &t BiRH & =
£-11 RiE™  [FEEFETKE| 24,057 et 21.6 66.3 & s & =
£E-12 RE™ |[REETER4E| 40541 et 6.6 14.8 & s & =
£-13 RiE™ B LR 24,240 = 26.9 &t & BEfF+ & =
£-14 RE™ |[REBETHEIAN| 13,448 & 24.3 &t &t FAN i) R =
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£-15 REM JAN= 18 7,187 et 2.1 0.8 & i H184E LAB% =
£-16 FEM  |(FEERFETE#EN 3,002 &t 14.8 235 &t BiRH  |[HISELIE =
£-17 RE™  (FERFETAHEY 32649 &t 12.9 334 &t BiRH |[HISELIE =
£-18 FEM |[EXRFETEE 24761 &t 6.8 34.9 &t BiRH |[HISELIE =
£-19 RiE™  (FEEFETEL| 10,771 &t 15.8 54.1 & vt H18£E LAR% =
£-20 RE™  (EERFETEL| 24178 &t 21.2 84.9 & vt H18£E LAR% =
E-21 RE™ REHEFHE 16,798 &t 6.6 11.7 &t Tih HISELRE | FE
£-22 RE™ |REETHITEE| 89514 = 28.6 &t &t gt HISELRE | FE
£-23 RE™ REABTHEIR 14,982 & &t &t &t Bt |HISELE| FE
£-24 RE™ |EXHETEH| 11,325 &t & 73.8 & s H18£E LAR% =




